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Question 1 (a) SWOT Analysis
SWOT – This stands for strengths, weaknesses, opportunities and threats, swot analysis gives a company to know where its business stands both in internal and external environment towards an objective to be achieaved.

Here are some of the swot analysis for Merrythought.

They have a brand image and reputation.  The company was established a long time and has a good customer relations.  Their suppliers and retailers is based in a strategic location where it is a industrial revolution, meaning they can acquire the materials with ease and with regular orders.

An advantage for them is that they are the only producers of a unique teddy bears meaning they would be able to get higher premium on the prices which means competitive advantage over other companies who have opted to move to the far east
Opportunities in marketing
The company has great marketing opportunities especially in the far east where traditional British products of high quality have vey high status and can contain a premium.

A company website should assist them to sell in those markets and offer them the opportunities to quickly assess possible demand for new product lines with keyword research. Marketing via social media will also enhance the quick way of selling their products
Human resources
The company has an ongoing training program for existing workers.  Significant opportunies exist for workers to develop their own skills relevant to the company especially in production skills using the modern IT technology.
Threats
The company has a limited product range and only producing teddy bears and not many different models of the products to introduce in the market. 

In finance and accounting, it could be costly to maintain visits, this is seen by their heritage, roofing will be costly because it will reduce the profit by investing on roofing in about £250,000.  When the profit is less, this means the company might go on losses.

The company factory is old and working methods are not modern, this might lead to their customers switching to modernised company with modern technology.

The company was facing difficulties in production in that it was labour intensive, this needed qualified team to work in the production meaning hiring of new employees.

Outsourcing could be another threat because it might not maintain the company brand image as it was, furthermore it might not retain its customers because the customers were used to Merrythought services, outsourcing might lead to change of product in terms of quality.
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Q1 (b) Culture is a pattern of beleifs and expectations shared by members of organisation. This culture has to be learned by any new employee and it should be easy and clear to understand from time to time

Factors influencing the culture is the company still have not changed their modern techniques and production which was dated upto 60 years.  In the modern business life, an organisation has to go hand in hand with modern technology I.e internet

The history of the company shows that it was a family business wich was done from generation to generation. Recruiting more and experienced employees would lead to more standardised servcices hence good marketing and sales will increase the profitability of the company.

The two directors of Merrythought were young and not experienced in the field of production, this is what made the workforce take long in training, if they were both experienced in the field, then it would be easier to put down skills needed for the trained staff to work more efficiently within a short period

The sex of the employee also matters in a company's culture because it is believed that male staff are more aggressive in work than the female.
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Question 2 (a)

Advice on induction programme

Induction means practical way of training a new employee about culture and practices of an organisation.  This period of induction may take a short period or long period depending on organisations.

A good induction process is one which will be easy to learn by employee and cheaper for the organisation to carry out. It is a continuous process and changes everytime there is need or if there is change in the organisation.
What I think it should be included in the induction programme:-
Introduction of what the organisation deals with in its business.  This will give the new employee to know what kind of business it is running and what is needed of her/him to understand about the organisation.

Another aspect to be considered is the building and structures within the premises like the factory itself, production, and the offices.

I will apply Fowler (1996) what relates to work situation, B120, Book 2, page 46, it shows the levels of work situation.
Individual level.  This includes what the employee should know concerning the hours to work, leave, payment and the methods to be used, salaries,wages, overtime welfare, benefits and all that partains any new employee on recruitment.
Job/task level.  This means the general work to be done and where an employee should start.  Issues concerning health and safety programmes is necessary for a new employee.  This includes protection gear to be used in the organisation, fire procedures, what to do incase of fire, the exits, meeting point incase of fire.  Security is also important when it comes to the premises, also confidentiality in work place should be addressed.  Data protection of the company should be kept as a secret at all times, the employee should sign a secrecy form that shows that whatevere it is going on in the organisation should be kept confidential at all times.

Organisational level.  It is also important for the employee to know the vision and mission and the set goals  and all the policies that are to be adhered in the organisation.  They should be aware of the product, how it is produced, the marketing of the product, competitors, shareholders, suppliers in the organisation. 

Useful information to the new employee is that they should be aware of the product, how it is produced, the marketing of the product, competitors, shareholders, suppliers in the organisation. 
 Support at departmental level.  This includes getting familiar with the staff, the environment, the job assigned to the employee.  Contacts, internal customers is also an important aspect for an employee so as to know who he/she will be dealing with in transacting the business.
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Question 2 (b) advice on improving on training of production operatives.

Concerning Merrythought, the directors should look for a good training Human Resources Manager who will head the training in the production department, when employees are well trained, it will improve on the production which will lead to increase in sales and at the end of the production year, there will be high profit and a good reputation to the company.

It also reduces staff turnover if an employee is satisfied with the kind of training offered.  Training is an investment to the company, it is easier for employees to perform their jobs with ease and more effective when they get a good training program

.
The methods of training and development

Coaching – It requires hiring of an experienced and professional  person to train the less experienced, it should be someone who has a good knowledge of the production
Mentoring- this to be done by management but not a line manager to the trainee.
In-house training.  It is a means of training provided within the business by  providing skills and knowledge needed in the organisation.
Action learning – sharing of information and problems faced in the organisation

The methods to be used to improve production

The most appropriate way of training is to hiring an experienced person who has skills  on the job. It will reduce wastage of time during training and also the skills should be of higher standard. The training personnel should use a method which is simple to understand and one which will not cost the company a lot, because this may lead to reduction on the net profit.  It should be a continous process until the employee is used to the process.
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Question 2 (c)

Marketing issues

The directors need to improve on their marketing techniques like making an Ideal website which will make customers aware of their online services. They need to do advertising too using a modern technology.

Expanding their businesses not only in the UK will also improve the companies reputation and image, it will also increase on the productivity leading to higher turnover.  
Finance and accounting

Costs in maintaining visits is higher, due to keeping their heritage.  This should be reduced so as to make other production expenses instead of roofing.
Question 5 (a)

Globalisation, it means differnet things to different people. It is simply defined as the expansion of economic activities across political boundaries of nation states (B120, Book 5, page 32) 

During the olympic cames, all nationalities attended the games meaning those who bought the teddy bears came from different nationalities.
I should say collectors played a globalised role in the teddy bears by buying them and selling them to different countries.  Also because of strong export sales in Japan as well as dual branded bears likes of Fortunum & Mason and the royal collection.
Q5(b) Drivers of globalisation.  These are pressures or changes that have impelled both businesses and nations to adpit this approach, (book 5, page 34)
Cost Drivers – these seek out an advantage to a bsuiness from the possible of lowering of cost of production.  For Merrythought.,  production was seen as labour intensinve and it was the biggest overhead they were facing.  Increasing of production require a lot of in-house training which is very expensive.
Outsourcing was not an option since they want to produce the teddy bears in Britain
Market Drivers
The directors overhauling the marketing of the business and want to make their website an easy method selling directly to customers.  They also want to be market led meaning going globaly.
Government Drivers
This is where nations work together to increase the possibility of trading activities in an international trade. 

Moving upmarket allowed the business to carve out a niche, the company's plans to to capitalise is being on growing demand and find new overseas markets is being frustated by fears on how to increase its capacity and also the manufacturing here in the UK as delcined so much, if they want to expand, finding those skills will be very difficult.
Competition Drivers

Opening up of economeis or businesses creates an environment inw which different players can enter into the market.  Traditional companies like Merrythought used to be product led and could survive just by designing and producing,  Merrythought has been the only British company which manufactures teddy bears. 
